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97.10-100. 03 — 30(8) X674 = 20220 (6. 5%)

100.04-101. 12 — 21 (B) X726 = 15246 (7%)
102.01-103. 12 — 24(B) X778 = 18672 (7. 5%)
104. 01-105. 12 — 24 (B) X878 = 21072 (8%)
106. 01-107. 12 — 24(B) X932 = 22368 (8. 5%)
108.01-109. 12 — 24 (B) X987 = 23688 (9%)

110. 01~— 1042 (5T/B) (9. 5%)
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(111.08. 26 renem)

97.10—100.3 => B 674
100.4—101.12 => B 726
102.1—103.12 => B#@ 778
104.1—105.12 => B8l 878
106.1—107.12 => B#§ 932
108.1—109. 12 => Bl 987
110. 1~ => F#fl 1042

97 £~103 F FRREE—17280
104 £~ RRREH 18282

101 1 AnROBRFLNREXAZRDNGE  ERXREA M
30 B3 HEARRAT S % B BIE 30 Bk 2SR T
BIFRARMNFREEL e TRUMNFREDHIE 3088
rbk B3R F A -



